
Finding Formulas with Claire and Dillon 
 

 
explain how you get each answer! 

 

1) 
 
 
 
 
 
 
 
 
 

X=1 produces Y=7 
X=2 produces Y=10 
X=3 produces Y=13 
X=4 produces Y=17 
X=0 produces Y=4 
 
 

the formula is Y=____________. 

2) 
 
 
 
 
 
 
 
 
 

X=1 produces Y=2 
X=2 produces Y=6 
X=3 produces Y=10 
X=4 produces Y=14 
X=0 produces Y=–2 
 
 

the formula is Y=____________. 

3) 
 
 
 
 
 
 
 
 
 

X=1 produces Y=9 
X=2 produces Y=7 
X=3 produces Y=5 
X=4 produces Y=3 
X=0 produces Y=11 
 
 

the formula is Y=____________. 

Super-Tricky!  In each problem, take the five given X-Y pairs, 
and graph the points (X,Y) onto coordinate axes.  In each case, 
if you “connect the dots”, what do the graphs look like?  
What aspects of the graph do the multiplier and additional 
amount describe? 


